Dividing Decimals

Name: Class:

Divide.

36 +9 = 28 =2 = ’ \

270 = 8 = 85 =35 = (ON T AU
@ ®

96 =+ 3 = 56 +5 = 72 + 8 =

236 + 2 = 297 + 9 = 82 =2 =

5 + 4 = 99 +3 = 8.05 =7 =

21 +7 = 696 - 6 = 96 + 8 =

0.56 + 2 = 1.62 + 9 = 72 =6 =

25 +5 = 64 + 4 = 8.1 =+ 3 =

3.8 =5 = 32 + 8 = 6 + 4 =
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Divide.

3.6 =+

2.72 +

9.6 =

2.36 +

2.1 =+

9.56 +

25 =+

3.8 =+

9 =04
8 =034
3 =32
2 =1.18
: 4 =125
7 =03
2 =478
5 =05
5 =0.75
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Answers

28 =2 =14

85 +5 =17

297 + 9 =033

99 +3 =33

6.96 + 6 =1.16

1.62 + 9 =0.18
64 +4 =16
32 +8 =04
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7.2 0.9
8.2 4.1
8.05 = 1.15
9.6 1.2
7.2 1.2
8.1 2.7
6 1.5



